
MATHS

BOOKS - KC SINHA ENGLISH

COMBINATIONS - FOR BOARDS

Solved Examples

1. Evaluate: 

Watch Video Solution

10C5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Hb3grje2QCXH


2. Evaluate: 

Watch Video Solution

^ 100C97

3. Prove that 

Watch Video Solution

5

∑
r= 1

5Cr = 31

4. Evaluate : 

Watch Video Solution

^ 25C22 −24 C21

https://dl.doubtnut.com/l/_QUdnLDKdO7kP
https://dl.doubtnut.com/l/_mgCU1OCZsrk8
https://dl.doubtnut.com/l/_ekOTDIsQQTLQ


5. If , find 

Watch Video Solution

 15C3r =  15Cr+ 3  r.

6. IF  Find the value of 

Watch Video Solution

18Cr = 18Cr+ 2, rC5

7. Determine n if 

(i)  


(ii) 

.2n C3 : .n C3 = 12: 1

.2n C3 : .n C3 = 11: 1

https://dl.doubtnut.com/l/_ucthYe1KmYHT
https://dl.doubtnut.com/l/_qNI4AcKAfWUZ
https://dl.doubtnut.com/l/_qwW4di0u9Wct


Watch Video Solution

8. If , determine n and hence 

Watch Video Solution

.n C8 =n C6 .n C2

9. find n if 

Watch Video Solution

.n C6 :n − 3 C3 = 33: 4

https://dl.doubtnut.com/l/_qwW4di0u9Wct
https://dl.doubtnut.com/l/_M2400fvGWntD
https://dl.doubtnut.com/l/_zKyUrusBncnd


10. If  find n

and r.

Watch Video Solution

.n − 1 Cr :n Cr :n + 1 Cr = 6: 9: 13

11. The value of expression


 is equal to
 a.


b. 
c. 
d. none of these

Watch Video Solution

^ 47C4 +
5

∑
j = 1

^ (52 + j)C3

^ 47C5 ^ 52C5 ^ 52C4

https://dl.doubtnut.com/l/_RHTWcQNLLEp2
https://dl.doubtnut.com/l/_4YrN5VHkgSc8


12. Prove that product of r consecutive positive

integers is divisible by r!.

Watch Video Solution

13. Find the number of triangles which can be

formed having vertices at angular points of a

convex polygon of m sides.

Watch Video Solution

https://dl.doubtnut.com/l/_tJ6ibU42cLtr
https://dl.doubtnut.com/l/_1LaXbmrj8EHv


14. Show that a convex polygon of m sides has

 diagonals

Watch Video Solution

m(m − 3)

2

15. A polygon has 44 diagonals . Find the

number of sides of the polygon.

Watch Video Solution

https://dl.doubtnut.com/l/_K1pS9fCVDxXg
https://dl.doubtnut.com/l/_h49rnkLrMQik


16. A teacher takes three children from her

class to a
zoo at a time, but she does not take

the same three children to the zoo more
than

once. She finds that she went to the zoo 84

times more than a particular
child has gone to

the zoo. The number of children her class is


a. 
b. 
c. 
d. none of these

Watch Video Solution

12 10 60

https://dl.doubtnut.com/l/_R78qVbKCDyec


17. On a new year day every student of a class

sends a card to every other student. The post

man delivers 600 cards. How many students

are there in the class?

Watch Video Solution

18. We wish to select 6 person from 8 but, if

the person A is chosen, then B must be

chosen. In how many can selections be made?

Watch Video Solution

https://dl.doubtnut.com/l/_vSspNxtCPu4X
https://dl.doubtnut.com/l/_E06t39yo8guL


19. A boy has 3 library tickets and books of his

interest in the library.
 Of these 8, he does not

wasnt to borrow Chemistry part II, unless

Chemistry
Part I is also borrowed. In how many

ways can be choose th
 three books to be

borrowed?

Watch Video Solution

20. Out of 6 gentlemen and 4 ladies a

committee of 5 is to be formed. In how many

https://dl.doubtnut.com/l/_E06t39yo8guL
https://dl.doubtnut.com/l/_dhiJvx6wFzcx
https://dl.doubtnut.com/l/_SaKhlsmXxr7R


ways can this be done so as to include at least

one lady in each commiittee?

Watch Video Solution

21. A committee of 7
has to be formed from 9

boys and 4 girls. In how many ways can this be

done
 when the committee consists of:
 (i)

exactly 3
 girls (ii) atleast 3 girls (iii) atmost 3

girls

Watch Video Solution

https://dl.doubtnut.com/l/_SaKhlsmXxr7R
https://dl.doubtnut.com/l/_jrnrn1zSXpUH
https://dl.doubtnut.com/l/_BUFHIeQXSVx6


22. A group consists of 4 girls and 7 boys. In

how many ways can a team of 5 members be

selected, if the team has 

(i) no girls. 

(ii) atleast one boy and one girl. 

(iii) atleast three girls.

Watch Video Solution

23. From a class of 25
 students, 10 are to be

chosen for an excursion party. There are 3

students
 who decide that either all of them

https://dl.doubtnut.com/l/_BUFHIeQXSVx6
https://dl.doubtnut.com/l/_mRKhUtuFnDzF


will join or none of them will join. In
how many

ways can the excursion party be chosen?

Watch Video Solution

24. In a village, there are 87 families of which

52 families have at most 2 children. In a rural

development programme, 20 families are to be

helped chosen for assistance, of which at least

18 families must have at most 2 children. In

how many ways can the choice be made?

Watch Video Solution

https://dl.doubtnut.com/l/_mRKhUtuFnDzF
https://dl.doubtnut.com/l/_Lmby0rOOeMKW


25. Determine the
 number of 5-card

combinations out of a deck of 52 cards if each

selection of
5 cards has exactly one king.

Watch Video Solution

26. about to only mathematics

Watch Video Solution

https://dl.doubtnut.com/l/_Lmby0rOOeMKW
https://dl.doubtnut.com/l/_fVkevgzwL3UJ
https://dl.doubtnut.com/l/_7E4UOsRXNrMl


27. There are ten points in a plane. Of these

ten points, four points are in a straight line

and with the exceptionof these four points, on

three points are in the same straight line. Find

i. the number of triangles formed, ii the

number of straight lines formed iii the number

of quadrilaterals formed, by joining these ten

points.

Watch Video Solution

https://dl.doubtnut.com/l/_QeGeY2ZWiaGH


28. There are 4 oranges, 5 apples and 6

mangoes in a fruit basket and all fruits of the

same kind are identical. In how many ways can

a person make a selection of fruits from

among the fruits in the basket?

Watch Video Solution

29. There are five different green dyes, four

different blue dyes and three different red

dyes. The total number of combinations of

https://dl.doubtnut.com/l/_lH6InkyDbBVj
https://dl.doubtnut.com/l/_W4nKA0bqubxc


dyes that can be chosen taking at least one

green and one blue dye, is

Watch Video Solution

30. Find the number of divisors of 21600.

Watch Video Solution

31. It is necessary to pass in each subject out

of 6 subjects in an examination. In how many

ways can a student failed?

https://dl.doubtnut.com/l/_W4nKA0bqubxc
https://dl.doubtnut.com/l/_8iW80aCjSygH
https://dl.doubtnut.com/l/_Y91fZIL60tuH


Watch Video Solution

32. In how many ways 12 different things can

be divided equally among 3 persons? Also find

in how many ways can these 12 things be

divided in three sets each having 4 things.

Watch Video Solution

33. In how many ways 50 different things can

be divided in 5 sets three of them having 12

https://dl.doubtnut.com/l/_Y91fZIL60tuH
https://dl.doubtnut.com/l/_j1YjQW0C2oRx
https://dl.doubtnut.com/l/_Qau0aefZJaD9


things each and tow of them having 7 things

each.

Watch Video Solution

34. about to only mathematics

Watch Video Solution

35. Five balls of different color are to be placed

in
 three boxes of different size. Each box can

hold all five. In how many
 different ways can

https://dl.doubtnut.com/l/_Qau0aefZJaD9
https://dl.doubtnut.com/l/_G7S2EnJHF9Gk
https://dl.doubtnut.com/l/_HmAlPdgUKx5i


we place the balls so that no box remains

empty?

Watch Video Solution

36. How many words of 4 different letters can

be formed out 7 capital letters 3 vowels and 5

consonants if each word starts with a capital

letter and contains at least one vowel.

Watch Video Solution

https://dl.doubtnut.com/l/_HmAlPdgUKx5i
https://dl.doubtnut.com/l/_YFWB6iomvxjZ


37. The English alphabet has 5 vowels and 21

consonants. How many words with 2 different

vowels and 2 different consonants can be

formed from the alphabet?

Watch Video Solution

38. Find the number of permutations of n

different things taken r at a time such that

two specific things occur together?

Watch Video Solution

https://dl.doubtnut.com/l/_aPa4fZAFjknj
https://dl.doubtnut.com/l/_NDeOEUj26Fae


39. The number of words of four letters that

can be
 formed from the letters of the word

EXAMINATION is
a. 
b. 
c. 
d. none

of these

Watch Video Solution

1464 2454 1678

40. Find the total number of ways of selecting

five letters from the word
INDEPENDENT.

Watch Video Solution

https://dl.doubtnut.com/l/_NDeOEUj26Fae
https://dl.doubtnut.com/l/_aVqNNYrvCCEC
https://dl.doubtnut.com/l/_Tp7zUBtdYZ0d


Exercise

41. An 8 ored boat to be manned from a crew

of 11, out of which 3 can only steer but cannot

row.8 can row but cannot steer.In how many

ways the staff can be arranged if 2 of the men

can only row on bow side.

Watch Video Solution

1. Find n if = 12: 1
^ (2n)C2

^ (n)C2

https://dl.doubtnut.com/l/_cpLcXXxg4apE
https://dl.doubtnut.com/l/_5fb2goG3L4Dj


Watch Video Solution

2. If , find n

Watch Video Solution

.n C30 =n C4

3. If , find

Watch Video Solution

.n C12 =n C8 .n C17 and 22
Cn

4. If , find .18 Cr =18 Cr+ 2 .r C6

https://dl.doubtnut.com/l/_5fb2goG3L4Dj
https://dl.doubtnut.com/l/_BIe1KnR14nTJ
https://dl.doubtnut.com/l/_BUApXNbuHBSW
https://dl.doubtnut.com/l/_YHhpoyxiAqSg


Watch Video Solution

5. If , find 

Watch Video Solution

.n Cn − 4 = 15 .n C6

6. If 15Cr :15C(r-1)=11 :5 find r.

Watch Video Solution

7. Evaluate .10 C4 +10 C5

https://dl.doubtnut.com/l/_YHhpoyxiAqSg
https://dl.doubtnut.com/l/_r0WsGuVuzegL
https://dl.doubtnut.com/l/_4aEJvKKVA5fm
https://dl.doubtnut.com/l/_lWLcM5NCt42t


Watch Video Solution

8. Evaluate `

Watch Video Solution

^ 13C6 +13 C5

9. Evaluate 

Watch Video Solution

.19 C18 +19 C17

10. Evaluate `.31 C26 −30 C26

https://dl.doubtnut.com/l/_lWLcM5NCt42t
https://dl.doubtnut.com/l/_V4oO4FnmE8Gf
https://dl.doubtnut.com/l/_uv1kpgkoPjVG
https://dl.doubtnut.com/l/_lniXHkSpR2z6


Watch Video Solution

11. Evaluate 

Watch Video Solution

.61 C57 −60 C56

12. If 
find 

Watch Video Solution

^ nC9 =n C8, ^ n

https://dl.doubtnut.com/l/_lniXHkSpR2z6
https://dl.doubtnut.com/l/_bbSAizwBvHYI
https://dl.doubtnut.com/l/_jFWaTjGlvGMm


13. If , determine n and hence 

Watch Video Solution

.n C10 =n C12

.n C5

14. Prove that: 

Watch Video Solution

1 +3 C1 +4 C2 =5 C3

15. Prove that: 

Watch Video Solution

2 ×7 C4 =8 C4

https://dl.doubtnut.com/l/_AqSGR7ERMku3
https://dl.doubtnut.com/l/_zPh8rq8MhK84
https://dl.doubtnut.com/l/_8LOvuWnurmMg


16. Prove that:

Watch Video Solution

.2 C1 +3 C1 +4 C1 =5 C3 − 1

17. Show that:

Watch Video Solution

.20 C13 +20 C14 −20 C6 −20 C7 = 0

https://dl.doubtnut.com/l/_8LOvuWnurmMg
https://dl.doubtnut.com/l/_t2LAIqBmSQQR
https://dl.doubtnut.com/l/_5vzQizDyNsPO


18. Prove that  if 

.

Watch Video Solution

.n − 1 C3 + .n − 1 C4 > .n C3

n > 7

19. If

,

then find the value of n.

Watch Video Solution

.n Cr = 84, .n Cr− 1 = 36  and.n Cr+ 1 = 126

https://dl.doubtnut.com/l/_SQ8vM30dDlYV
https://dl.doubtnut.com/l/_ZbCAmCBdVPQ6


20. In how many ways can a committee be

selected from 15 persons if the committee is

to have (i). 3 members, (ii). 13 members

Watch Video Solution

21. How many different teams of 7 players can

be chosen from 10 players?

Watch Video Solution

https://dl.doubtnut.com/l/_8Cz8pGDmlHZX
https://dl.doubtnut.com/l/_VFuH6jMWtxYz


22. Sudha wants to choose any 9 stamps from

a set of 11 different stamps. How many

different selections can she make?

Watch Video Solution

23. How many chords
can be drawn through 21

points on a circle?

Watch Video Solution

https://dl.doubtnut.com/l/_pR7holBoopNZ
https://dl.doubtnut.com/l/_3q3YHEej0VoF


24. Seven points lie on a circle. How many

chords can be drawn by joining these points.

Watch Video Solution

25. How many selection of 4 books can be

made from 8 different books?

Watch Video Solution

https://dl.doubtnut.com/l/_9qtwywOrWMYh
https://dl.doubtnut.com/l/_t0530Q8kQxuV


26. In how many ways can a student choose a

programme of 5 courses if
 9 courses are

available and 2 specific courses are

compulsory for every
student?

Watch Video Solution

27. How many quadrilaterals can be formed

joining the vertices of a convex polygon of n

sides?

Watch Video Solution

https://dl.doubtnut.com/l/_Eb5vf7X4VGtv
https://dl.doubtnut.com/l/_ws9RMmBV6Y2S


28. A man has 7 friends and he wants to invite

3 of them at a party. Find how many parties to

each of 3 different friends he can give and how

many times any particular friend will attend

the parties?

Watch Video Solution

29. Prove that the number of combinations of

n things taken r at a time in which p particular

things always occur is .n − p Cr− p

https://dl.doubtnut.com/l/_ws9RMmBV6Y2S
https://dl.doubtnut.com/l/_DeJjHN2mzvTT
https://dl.doubtnut.com/l/_FSsW6Cb5YTlR


Watch Video Solution

30. A delegation of 6 members is to be sent

abroad out of 12 members. In how many ways

can the selection be made so that , a

particular member is included?

Watch Video Solution

31. A delegation of 6 members is to be sent

abroad out of 12 members. In how many ways

https://dl.doubtnut.com/l/_FSsW6Cb5YTlR
https://dl.doubtnut.com/l/_J3K5oPrN1cNf
https://dl.doubtnut.com/l/_JNMcCWcl3oDF


can the selection be made so that , A

particular member is excluded?

Watch Video Solution

32. There are 6 students A,B,C,D,E,F. In how

many ways can they be seated in a line so that

C and D do not sit together?

Watch Video Solution

https://dl.doubtnut.com/l/_JNMcCWcl3oDF
https://dl.doubtnut.com/l/_P498Yt2KAzVU


33. There are 6 students A,B,C,D,E,F. In how

many ways can a committee of 4 be formed so

as to always include C?

Watch Video Solution

34. There are 6 students A,B,C,D,E,F. In hoiw

many ways can a committee of 4 be formed so

as to always include C but exclude E?

Watch Video Solution

https://dl.doubtnut.com/l/_PICUOM7Bf5Iq
https://dl.doubtnut.com/l/_7YI2tdIJRXd7
https://dl.doubtnut.com/l/_cLhExP6IwdJd


35. There are n stations on a railway line. The

number of kinds of tickets printed (no return

tickets) is 105. Find the number of stations

Watch Video Solution

36. Twelve persons meet in a room and each

shakes hand with all others. Find the number

oif hand shakes.

Watch Video Solution

https://dl.doubtnut.com/l/_cLhExP6IwdJd
https://dl.doubtnut.com/l/_H4NShikQ9wSP
https://dl.doubtnut.com/l/_VDUe0s7fyE6G


37. Determine the
 number of 5 card

combinations out of a deck of 52 cards if there

is exactly
one ace in each combination.

Watch Video Solution

38. There are 15 points in a plane, no three of

which are in the same straight line with the

exception of 6, which are all in the same

straight line. Find the number of i. straight

lines formed, ii. number of triangles formed by

joining these points.

https://dl.doubtnut.com/l/_VDUe0s7fyE6G
https://dl.doubtnut.com/l/_6IFmPqxnuSvo


Watch Video Solution

39. There are 10 points in a plane out of which

5 are collinear. Find the number of

quadrilaterals formed having vertices at these

points.

Watch Video Solution

40. In how many ways can a team of 11 players

be selected from 14 players when two of them

can play as goalkeepers only?

https://dl.doubtnut.com/l/_6IFmPqxnuSvo
https://dl.doubtnut.com/l/_WwV03sLDax1N
https://dl.doubtnut.com/l/_oVO6LKhgg4hy


Watch Video Solution

41. In how many ways can one select a cricket

team of eleven from 17 players
in which only 5

players can bowl if each cricket team of 11

must include
exactly 4 bowlers?

Watch Video Solution

42. To fill 12 vacancies, there are 25 candidates

of
which 5 are from scheduled caste. If three of

https://dl.doubtnut.com/l/_oVO6LKhgg4hy
https://dl.doubtnut.com/l/_BbkG51tf1dEl
https://dl.doubtnut.com/l/_7GIhc2VSbHJt


the vacancies are reserved for
scheduled caste

candidates while the rest are open to all; the

number of ways
 in which the selection can be

made is
 a. 
 b. 
 c.

^22C_3+^5C_3
d. none of these

Watch Video Solution

^ 5C3 ×22 C9 ^ 22C9 −5 C3

43. A committee consisting of 2 men and 2

women is to be chosen from 5 men and 6

women. IN how many ways can this be done?

Watch Video Solution

https://dl.doubtnut.com/l/_7GIhc2VSbHJt
https://dl.doubtnut.com/l/_rl7zWLuX6GC3


44. A committee of 3 persons is to be

constituted from a group of 2
 men and 3

women. In how many ways can this be done?

How many of these
committees would consist

of 1 man and 2 women?

Watch Video Solution

45. In how many ways a committee consisting

of 3 men and 2 women can be chosen from 7

men and 5 women?

https://dl.doubtnut.com/l/_rl7zWLuX6GC3
https://dl.doubtnut.com/l/_aCHtaihUCAXC
https://dl.doubtnut.com/l/_o9cO8wroymY5


Watch Video Solution

46. What is the number
of ways of choosing 4

cards from a pack of 52 playing cards? In how

many of
 these
 (i) four cards are of the same

suit,
 (ii) four cards belong to four different

suits,
 (iii) are face cards,
 (iv) two are red cards

and two are bla

Watch Video Solution

https://dl.doubtnut.com/l/_o9cO8wroymY5
https://dl.doubtnut.com/l/_G1lDu5z8Yt2f


47. Find the number of
 ways of selecting 9

balls from 6 red balls, 5 white balls and 5 blue

balls if
 each selection consists of 3 balls of

each colour.

Watch Video Solution

48. In how many ways
 can a team of 3 boys

and 3 girls be selected from 5 boys and 4

girls?

Watch Video Solution

https://dl.doubtnut.com/l/_Eg6FJF7keQV7
https://dl.doubtnut.com/l/_HkVoAOckWzjm


49. A bag contains 5 black and 6 red balls,

determine the number of ways in which 2

black and 3 red balls can be selected from the

lot.

Watch Video Solution

50. A committee of 7
has to be formed from 9

boys and 4 girls. In how many ways can this be

done
 when the committee consists of:
 (i)

https://dl.doubtnut.com/l/_HkVoAOckWzjm
https://dl.doubtnut.com/l/_LayHvCNTP0vx
https://dl.doubtnut.com/l/_CyF50FBgastT


exactly 3
 girls (ii) atleast 3 girls (iii) atmost 3

girls

Watch Video Solution

51. At an election, three wards of a town are

convassed by 4,5, and 8 men respectively. If

there are 20 volunters. In how many ways can

they be alloted to different wards?

Watch Video Solution

https://dl.doubtnut.com/l/_CyF50FBgastT
https://dl.doubtnut.com/l/_L769k7rKMsjc


52. Out of 7 men and 4 ladies committee of 5

is to be formed. In how many ways can this be

done so as to include at least 3 ladies?

Watch Video Solution

53. A candidate is required to answer 6 out of

10
 questions, which are divide into two

groups, each
containing 5 questions. He is not

permitted to attempt more than 4 questions

from either group. The number of different

https://dl.doubtnut.com/l/_6M078AGi9RaW
https://dl.doubtnut.com/l/_H4O7PSt1J9oE


ways in which the candidate can
 choose 6

questions is
a. 
b. 
c. 
d. 

Watch Video Solution

50 150 200 250

54. A mathematics paper consists of 10

questions divided into two parts I and II each

part containing 5 questions. A student is

required to attempt 6 questions in al, taking

at least 2 questions from each part. In how

many ways can student select the questions?

Watch Video Solution

https://dl.doubtnut.com/l/_H4O7PSt1J9oE
https://dl.doubtnut.com/l/_hFjeoGVY89zR


55. In an examination, a question paper

consists of 12 questions
divided into two parts

i.e., Part I and Part II, containing 5 and 7

questions, respectively. A student is required

to attempt 8 questions in all,
 selecting at least

3 from each part. In

Watch Video Solution

56. There are 10 professors and 20 students

out of whom a committee of 2 professors and

https://dl.doubtnut.com/l/_hFjeoGVY89zR
https://dl.doubtnut.com/l/_5fdwy4PWEDur
https://dl.doubtnut.com/l/_R4rRHMlu4WJ7


3 students is to be formed. A)Find the number

of ways in which
 this can be done.
 B) Further

find in how many of these committees: A

particular professor is included A particular

student is included
   Particular student is

excluded

Watch Video Solution

57. From 6 boys and 7 girls a committee of 5 is

to be formed so as to include at least one girl.

https://dl.doubtnut.com/l/_R4rRHMlu4WJ7
https://dl.doubtnut.com/l/_lu0MCJCBadxV


Find the number of ways in which this can be

done.

Watch Video Solution

58. From 6 gentlemen and 4 ladies a

committee of 5 is to be formed. In how many

ways can this be done if,( i). there is no

restriction (ii). the committee is to include at

least one lady.

Watch Video Solution

https://dl.doubtnut.com/l/_lu0MCJCBadxV
https://dl.doubtnut.com/l/_rQzxlA2yGUxY
https://dl.doubtnut.com/l/_BzcJI1ZFXEuJ


59. From 8 gentlemen and 4 ladies a

committee of 5 is to be formed. In how many

ways can this be done so as to include at least

one lady?

Watch Video Solution

60. A committee of 6 is to be formed out of 4

boys and 6 girls. In how many ways can it be

done so that the girls may not be out

numbered?

Watch Video Solution

https://dl.doubtnut.com/l/_BzcJI1ZFXEuJ
https://dl.doubtnut.com/l/_BedKNEzwOK6R


61. A persons has got 12 friends of whom 8 are

relatives. In how many ways can he invite 7

guests such that 5 of them may be relatives ?

Watch Video Solution

62. A candidate is required to answer 7

questions out of 12 questions, which are

divided into two groups, each containing 6

questions. He is not permitted to attempt

https://dl.doubtnut.com/l/_BedKNEzwOK6R
https://dl.doubtnut.com/l/_ad35Z55Bq15L
https://dl.doubtnut.com/l/_wPaPyh4h38aw


more than 5 questions from either group. Find

the number of different ways of doing

questions.

Watch Video Solution

63. Each of two parallel lines has a number of

distinct points marked on them. On one line

there are 2 points P and Q and on the other

there are 8 points. i. Find the number of

triangles formed having three of the 10 points

https://dl.doubtnut.com/l/_wPaPyh4h38aw
https://dl.doubtnut.com/l/_defQtMLdAUS4


as vertices. ii. How many of these triangles

include P but exclude Q?

Watch Video Solution

64. There are 7 men and 3 ladies contesting

for two vacancies, an elector can vote for any

number of candidates not exceeding the

number of vacancies. In how many ways can be

vote?

Watch Video Solution

https://dl.doubtnut.com/l/_defQtMLdAUS4
https://dl.doubtnut.com/l/_krH4dp3kzGRX
https://dl.doubtnut.com/l/_rQ3CnFpc6hXn


65. A committee of 6 is chosen from 10 men

and 7 women so as to contain at
 least 3 men

and 2 women. In how many ways can this be

done if two particular
 women refuse to serve

on the same committee?
a. 850 b. 8700 c. 7800

d. none of these

Watch Video Solution

66. For examination, a candidate has to select

7 subjects from 3 different
 groups A, B, C

which contain 4, 5, 6 subjects, respectively. The

https://dl.doubtnut.com/l/_rQ3CnFpc6hXn
https://dl.doubtnut.com/l/_tmr7j1oei5yX


number of
 different way in which a candidate

can make his selection if he has to select
 at

least 2 subjects form each group is?

Watch Video Solution

67. From 5 apples, 4 mangoes & 3 bananas, in

how many ways we can select atleast two

fruits of each variety if fruits of same species

are identical?

Watch Video Solution

https://dl.doubtnut.com/l/_tmr7j1oei5yX
https://dl.doubtnut.com/l/_Epcz96NrvM15
https://dl.doubtnut.com/l/_MctDmvLlt4RF


68. Find the total number of selections of at

least one red ball from 4 red balls and 3 green

balls, if (a) the balls of the same colour are

different, (b) the balls of the same colour are

identical.

Watch Video Solution

69. How many different amounts can be

formed with 4one rupee coins, 5 two rupee

coins ad 6 five rupee coins?

Watch Video Solution

https://dl.doubtnut.com/l/_MctDmvLlt4RF
https://dl.doubtnut.com/l/_wTqdUM53guUX


70. There are 5 questions in a questions paper.

In how many ways can boy solve one or more

questions?

Watch Video Solution

71. In an election for 3 seats there are 6

candidates. Voter cannot vote for more than 3

candidates. In how many ways can he vote?

Watch Video Solution

https://dl.doubtnut.com/l/_wTqdUM53guUX
https://dl.doubtnut.com/l/_WZWjLyqGCgN2
https://dl.doubtnut.com/l/_VnibA2uTnBdT


72. In an election the nuber oif candidates is

one more than thenumber of members to be

electeed. If a voter cn vote in 30 different

weaqys, find the number of candidates (A

voter has to vote for at least one candidate).

Watch Video Solution

73. In how many ways 12 different books can

be distributed equally distributed equally

among 4 persons?

https://dl.doubtnut.com/l/_VnibA2uTnBdT
https://dl.doubtnut.com/l/_k9nlO7xifvBI
https://dl.doubtnut.com/l/_xHDajs5FZqLI


Watch Video Solution

74. Number of ways in which 12 different

books can be distributed equally among 3

persons, is

Watch Video Solution

75. (i)
In how many
ways can a pack of 52 cards

be divided equally among four players?
 (ii)
 (ii)

In how
 many ways can you divide these cards

https://dl.doubtnut.com/l/_xHDajs5FZqLI
https://dl.doubtnut.com/l/_jmNgNLYYs6Y2
https://dl.doubtnut.com/l/_c0KGrjoMe2zR


in four sets, three of them having 17
 cards

each and the four the one just one card?

Watch Video Solution

76. In how many ways can 7 cross marks X be

placed in the given figure so that each row has

at least one cross mark?

Watch Video Solution

https://dl.doubtnut.com/l/_c0KGrjoMe2zR
https://dl.doubtnut.com/l/_nm2jTwHzv482


77. Out of 10 consonants and 4 vowels, how

many words can be formed each containing 3

consonants and 2 vowels ?

Watch Video Solution

78. How many words, with or without meaning,

each of 3 vowels and 2
 consonants can be

formed from the letters of the word

INVOLUTE?

Watch Video Solution

https://dl.doubtnut.com/l/_WYlcfiNJVvVu
https://dl.doubtnut.com/l/_XnAZQMYml6Cz


79. How many words, with or without meaning,

each of 2 vowels and 3
 consonants can be

formed from the letters of the word

DAUGHTER ?

Watch Video Solution

80. A table has 7 seats, 4 being on one side

facing the window and 3 being on the

opposite side. In how many ways can 7 people

be seated at the table. 

https://dl.doubtnut.com/l/_XnAZQMYml6Cz
https://dl.doubtnut.com/l/_Y24IoNw0HwZC
https://dl.doubtnut.com/l/_7iZHYud5d31z


If 3 people , X,Y and Z must sit on the side

facing the window ?

Watch Video Solution

81. A tea party is arranged for 16 persons along

two sides of a long table
with 8 chairs on each

side. Four persons wish to sit on one

particular and
 two on the other side. In how

many ways can they be seated?

Watch Video Solution

https://dl.doubtnut.com/l/_7iZHYud5d31z
https://dl.doubtnut.com/l/_UP0z4JHE3DfW
https://dl.doubtnut.com/l/_kXeJ7FzubQSJ


82. Eight chairs are numbered 1 to 8. Two

women and 3 men wish to occupy one chair

each. First the women choose the chairs from

amongst the chairs 1 to 4 and then men select

from the remaining chairs. Find the total

number of possible arrangements.

Watch Video Solution

83. A team of 8 players is to be chosen from a

group of 12 players. Out of the 8 players one is

to be elected as captain and another an, vice-

https://dl.doubtnut.com/l/_kXeJ7FzubQSJ
https://dl.doubtnut.com/l/_x8ycxRzfylGe


captain. In how many ways can this is done?

(A) 27720 (B) 13860 (C) 6930 (D) 495

Watch Video Solution

84. How many three letter words can be made

using the letters of the word
ORIENTAL?

Watch Video Solution

https://dl.doubtnut.com/l/_x8ycxRzfylGe
https://dl.doubtnut.com/l/_lxyNIgfokgyH

